
FIN532

-roblemSet 4

① E(p = re + PoCE(wn) - V= )

Pp : -00
② a.

=
b,

Mp = 0 .3x0 . 13 + 0
. 45x0

. 68 + 0 . 25/0 . 08

= 14.

TAB = 0 . 8 x 1 . 2 x 0 . 222 = 0
.
046464

%0 .347045xz
= 26 .

45 %

Bp = 0 . 34 1
.
2 + 0

.
45x0

. 860
.
25/0

= 0 . 7y

rep-6452-0.

7820
.

222
= 20 . 12%



③ a. Stock A has more firm-specific
risk Since (a) : 10 . 3 % > 9

.
1 % = Ulep)·

b
.
Stock A has more worked rish

since Ba = 1
.
2) 0 . 8 = B.

c
.
For stock A since

R-Square (A) = 0
. 576 > 0

. 436 : R-sq (B) .

d . Na-re = 1 % + 1
. 2(5r - re) + Ca

Na =
1 % + (1 - 1

. 2)rf + 1
. 25n + CA-

new intercept = -0 .
2%

①
R-square-
=> v=

Va=o
.231

.
30%

Too= 69
.
25%



6. ra = 0 .
098 = 0

. 0196 + 0
.

078
rest .

- -
20% systematic

VB2 = 0
. 48 = 0 . 0576 + 0

.
4224
- um

12% systematic the rest.

c
. TAB = BABB Tr = 0. 7 x 1

.
2 x 0 . 2

2

=
0 . 0336

SAs
=0336 =

0. 15.

d
. Jam = 0

.
7 x 1x 0

.
22 = 0 . 028

TBM =
1
.
2 x 14 0 .

22 = 0 . 048

2
.

6440. 098 + 0
.

4240
. 48 + 260 .60. 4 + 0

. 0336

= 35 .

81 %

Bp = 0 . 640 .
7 + 0

.

4x 1 . 2 = 0
. 9

ra(ep) = Up - Bin
= 0

.
358,2 - 0

.

92 % 0
.

2

= 0
.
095808

5pm = 0 . 9 x 1 + 0
.

2 =
0

.
036



F

Up-440.

35812 + 0
.

37 0
.

2 + 2x0
.
540 .3x0

.
036

=
29

. 48 %

Ba = 0 . 5 + 0
.940

.34140
. 2x0 = 0

.
75

52(ea) = 0
.
29482 -0 .750 .

22 = 0
. 064404

Tam =
0

.75x1x0 .
22 = 0

.
03.

⑰
a .

50= = D = 50x0 .

1 = 7.

3
.

0
.
14 = 0

.

06 + 3 + 0
. 085

Bold = 00 =
0
.

94

B =5 if I doubles the

beto doubles
.

Baew =
2 + 0

.
941 = 1

. 882

E(Tnew) = 0
. 06 + 1 . 88240 . 085 = 22%

Pwew = z = $31
. 82



⑥
a . Only beta matters

here.

E($) = 0 . 04 + 1
.
54 0

. 06 = 13%

E(($5) = 0
.

04 + 160. 06 = 10%

b. According to the CAPM
,
$1 store

should yield more then expected.

Thestockisthr oprineametre
on everything $5 should be less

then expected. The stock
is

under valved .

⑦ 0 . 12 = re + 1
. 2(E(rn) - ro)

0
. 09 = +F + 0

.
8 (E(rm) - (f)

= 0 .
03 = 0 .

4 (E(m) - rf)

=> 0 . 12 = N
= + 1 . 2

+
re = 0

. 12 -
0
.

09 = 3 %


